B.Sc. Semester-1 (General) Examination, 2020 (CBCS)
Subject: Chemistry
Paper: GE-1/CC-1A (Theory)

Time: 2 Hours Full Marks: 40
Candidates are required to give their answers in their own words as far as practicable.

Answer any eight questions from the following: 5x8=40

1. Write down Aufbau principle and its limitations. State the significance of azimuthal
guantum number.
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2. Why hydrogen is placed in a different place in modern Periodic Table? Define
resonance with example.
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3. Compare on the stability of 1°, 2° and 3° carbocation with example. In between NH3
and NFs which one is more basic and why?
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4. Which of the two: O2NCH>CH>O™ or CH3CH>O" is expected to be more stable and
why? Draw the resonance structures for CsHsOH.
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5. What is the product of this reaction?
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Identify reactive intermediate produced as free radical, carbocation and carbanion.
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Balance the following redox reactions by ion-electron method:
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MnOs(aq) + SO2(g) — Mn?*(aq) + HSO4(in acidic solution)

Define Lux-Flood concept of acidity and basicity with one example each.
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What is Markownikoff’s addition reaction? Discuss with mechanistic example.
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Write short note on Saytzeff and Hofmann Elimination.
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Define Hard Acid and Soft Base with one example for each. Write down electronic

configuration of Fe(lll).
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What is called electronegativity of an element? How it varies along period and

groups? Give one example each of s-, p-, d- and f-block elements.
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